
Part	 Description	 Part	 Common Uses	
	 	 Number

Bolt	 Double cone ferrule bolt, 10-32, 5/16 in. hex head	 043275	 High-pressure  connections to 1/16 in. tubing 
Ferrule	 Double cone ferrule, 10-32	 043276	 (columns, suppressors, etc.).
	 Double cone ferrule, 10-32; Pack of 10	 043225	

Plug	 10-32	 042772	 Plug columns, eluent connections on CR-TC, and suppressors.
Plug	 1/4-28	 037628	 Plug regen side of suppressors and CR-TC.
Cap	 1/4-28	 045597	 Cap 1/8 in. tubing for eluent supply and regen lines.

Bolt	 1/4-28 for 1/8 in. tubing, Flangeless, 	 052267	 Connect eluent supply and waste lines.
	 Natural PEEK™

Bolt 	 1/4-28 for 1/8 in. tubing, Flangeless,  	 057934	 Regen IN tubing connection on CR-TC.
	 Natural PEEK, short length

Ferrule	 1/8 in., Flangeless (yellow, reverse type, 	 048949
	 for 2 bolts above)

Bolt 	 1/4-28 for flat fitting, 1/16 in. tubing	 052230	 Connect 1/16 in. tubing to regen circuit of CR-TC, suppressor 
	 	 	 (use Green PEEK tubing only).	
Ferrule	 Flat type reverse, 1/16 in. (for bolt above)	 052231

Union	 1/4-28 to 1/4-28, 0.06 in. through hole 	 039056	 Connect 1/8 in. tubing pieces together.
	 (female threaded for male connectors)

Union	 1/4-28 to 10-32 (female threaded for	 042806	 Join 1/8 in. and 1/16 in. tubing together.
	 male connectors)

Union	 10-32 to 10-32 (female threaded for male 	 042627	 Join 1/16 in. and 1/16 in. tubing together.
	 connectors)

Syringe	 Female Luer to male thread 1/4-28	 024305	 Connect syringe to 1/8 in. tubing (with 1/4-28   	
Adapter	 	 	 to 1/4-28 union and male fittings, not included).
	
Syringe	 Female Luer to male thread 10-32 	 046888	 Connect syringe to 1/16 in. tubing.
Adapter	

Check	 ICS-900, -1000, -1100, -1500, -1600, 	
Valve	 -2000, -2100, -3000
Inlet	 Cartridge only	 045994
	 Cartridge and Housing	 045722	
Outlet	 Cartridge only	 045994
	 Cartridge and Housing	 045721

Injection	 ICS-900, -1000, -1100, -1500,  	 057896	 Rebuild 6-port injection valve on instruments listed.
Valve	 -1600, -2000, -2100, -3000
Rebuild Kit

Pump	 ICS-900, -1000, -1100, -1500, -1600,  	 055870	 Replace pump seal on instruments listed.
Seal	 -2000, -2100

Backup	 ICS-900, -1000, -1100, -1500, -1600, 	 063382	 Replace seal wash seal on instruments listed.
Pump Seal	 -2000, -2100

Pump	 ICS-3000	 064946	 Replace pump seal on ICS-3000.
Seal

Piston	 ICS-3000	 063382	 Replace seal wash seal on ICS-3000.
Wash Seal		

Single-hole Double-hole

Passion. Power. Productivity.

Dionex Quick Guide: Accessory List for Ion Chromatography

Anuta
New Stamp



Part	 Description	 Part	 Common Uses	
	 	 Number

Yellow PEEK 	 0.003 in. (0.075 mm) i.d.	 	 Backpressure coils.
1/16 inch o.d.	        5 ft	 052301	
	      20 ft	 052300

Red PEEK	 0.005 in. (0.125 mm) i.d.	 	 Microbore (2 mm column) plumbing.
1/16 inch o.d.	        5 ft	 052310
	      20 ft	 052311

Black PEEK	 0.010 in. (0.25 mm) i.d. 	 	 Standard (4 mm column) plumbing.
1/16 inch o.d.	        5 ft	 052306
	      20 ft	 052307

Orange PEEK	 0.020 in. (0.50 mm) i.d. 
1/16 inch o.d.	        5 ft	 052309
	      20 ft	 052308

Green PEEK	 0.030 in. (0.75 mm) i.d.	 	 Tubing for high flow rates or where very low backpressure is needed. 
1/16 inch o.d.	       5 ft	 052305	 Regen lines to suppressors.
	     20 ft	 052304

PTFE	 1/8 inch o.d.	 	 Eluent supply and waste lines.
1/8 inch tubing	      5 ft	 066046

10 µL	 PEEK Loop	 042949

25 µL	 PEEK Loop	 042857

50  µL	 PEEK Loop	 042950

100 µL	 PEEK Loop	 042951

200 µL	 PEEK Loop	 042952

250 µL	 PEEK Loop	 042953

500 µL	 PEEK Loop	 042954

Five Anion	 100 mL	 037157	 F-, 20 ; Cl-, 30; NO2
-, 100 ; PO4

3-, 150; SO4
2-, 150 (mg/L)

Seven Anion I	 50 mL	 056933	 F-, 20; Cl-, 30; NO2
-, 100; Br-, 100; NO3

-, 100; PO4
3-, 150; SO4

2-, 150 (mg/L)

Seven Anion II	 100 mL	 057590	 F-, 20; Cl-, 100; NO2
-, 100; Br-, 100; NO3

-, 100; PO4
3-, 200; SO4

2-, 100 (mg/L)

Six Cation I	 50 mL	 040187	 Li+, 50; Na+, 200; NH4
+, 400; K+, 200; Mg2+, 200; Ca2+, 1000 (mg/L)

Six Cation II	 50 mL	 046070	 Li+, 50; Na+, 200; NH4
+, 250; K+, 500; Mg2+, 250; Ca2+, 500 (mg/L)

Tubing

Sample Loops

Standards

PEEK is a trademark of Victrex PLC.

Passion. Power. Productivity.

LPN 2497-01  3M  05/10
©2010 Dionex Corporation

	 	 North America

	 	 U.S./Canada (847) 295-7500 

	 	 South America

	 	 Brazil (55) 11 3731 5140

Europe

Austria (43) 1 616 51 25  Benelux (31) 20 683 9768; (32) 3 353 4294  	
Denmark (45) 36 36 90 90  France (33) 1 39 30 01 10  Germany (49) 6126 991 0  	
Ireland (353) 1 644 0064  Italy (39) 02 51 62 1267  Sweden (46) 8 473 3380	
Switzerland (41) 62 205 9966  United Kingdom (44) 1276 691722

Asia Pacific

Australia (61) 2 9420 5233  China (852) 2428 3282  India (91) 22 2764 2735  	
Japan (81) 6 6885 1213  Korea (82) 2 2653 2580  Singapore (65) 6289 1190	
Taiwan (886) 2 8751 6655

Dionex Corporation

1228 Titan Way	
P.O. Box 3603	
Sunnyvale, CA	
94088-3603	
(408) 737-0700 www.dionex.com

Ordering Information

To order, use the above part numbers and contact your local Dionex office or distributor nearest you.  

In the U.S., call (800) 346-6390. In other regions, refer to the phone numbers below or find your 

local distributor at http://www.dionex.com/en-us/about/global-subsidiaries/lp-72369.html




